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the nth root
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Learning outcomes. The theory of exponents used deliberate and solve equations in

exponents or the number of square root and write graph , find the domain and

range of exponential functions and logarithm functions.
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Intended destination Find algebraic sum , product, rationalize the denominator

and simplify the result
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Alternate Example 1 Find algebraic sum , product and simplify the result.
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Find conjugates/Dividing,Rationalizing Denominators the nth root
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Personal Skills 1

Adding(and Subtracting)conjugates/Dividing,Rationalizing Denominators
the nth root

Learning outcomes. The theory of exponents used deliberate and solve equations in

exponents or the number of square root and write graph , find the domain and range
of exponential functions and logarithm functions.
Intended destination Find algebraic sum , product, rationalize the denominator and

simplify the result

Make the form successfully
(10 points)

1)3/5(+/10 +245) =

(V3 +42)V3-42) =




3)53/4 + 2332 — 3108

4)@—1+ V3+1
J3+1 3-1

5 (Jp+a+4p-q) =

When finished. To change the
practice with a friend check the
accuracy.You have to do is greater

than or equal to 75 percent

Summary score

Score 10 points made

Instructor.  Mrs. Malaiporn uasuwan



LNIITHNIYaY 3

104 9 HIWALIN WA Wag

/9 Y Y ]
Waﬁ’]'i“llf]\iﬂiﬂl"nalﬁllﬂugﬂﬁﬂ

¥
1Y 1 a 4
AFAAOU  UNNIEONT 19091550 NgNAITEMITouintiamans

ssmlvieglugiwaduie (10 AZLUY)

(/5 -2)2+/5 -1)

2) 243 +47)2V3-47)




3)3/81 +3/375 —3192

18 12

YRz Bz

5)(V2x—1+2x+3)' =

o <3 { )
mldiasadez lanlasuny
INOUATINANUYNADA

) ) [
ADNYNABDNBYNUBYTBYAL 75

a wvaa
asdwamsigiananssu

<
ASUUULIAY 10 ASLIUY ASLUUU



= Y =}
HuUHnReNNUUVGE oY

uuUEMTA 1.2 Wi 13 49 4(1-5) Aonddosas 1 9o

s iumadise
1)3v5(+/10 +2y/5)

2) (3+42)(V3-42)
3)(@+4/3)

(5 -2)25 -1)

5) 243 +47)2V3-47)
wuLAa 1.3 w1 21-22 90 3,5,6 1dondopeay 1 Vo
3.auhldegluzlodiade
1)+/50 ++/32 -4/18

2) 53/4 +23/32 —3/108

3) 3v2+V32-Yes

4) i/a+§/ﬁ—§/@

5)  Vax® —\16x5 +x°

s.auhldegluzlodiade

1)J§—1+_J§+1
J3+1 +3-1

y 18 12

V3442 V3-42
4(3+1) 2+43
JV3-1 2-43

Y
6.93¥11A1Ma 30381 IUaA0 111

) Jp+a++/p-q
2)  3vVa? +b? —2ya? —b?
3)  J2x-1+2Jx+3

4)




